.. ‘- = .. ‘_
]!. i m‘:ﬁ\mum IS sl:&:r-._ 1f"\é,

ety deciuathive ec:b._\n\ﬁ_ze_w;j

1 i
Sy e e W) U

.f .
%‘— 1 EEYE
s 1 [ 1
7] _
-t
@ 6102 20D NS




1 g | .
i-” L s A "?l._ﬂ_'lé:,t_!u_‘?:lﬁ_ _c:S e 3 *F\\Ci'ﬁ
,'_ l’ﬁ‘i-:&ﬁ anhmmnhec \= T\ Qg C_\T\CZLY“‘?C\ =
W LS -u

o e

&'C:x:} =Q o ¥
R
Yion .
° /Y c\tﬁ'l‘cjﬁc"r-* ) ﬁ‘f‘\ﬂ@é 2 ;\f:f'\c_: ;
ARRORNERTTY ooy

B v TR, Pyt

B e S
! LIy — i

- e %rﬁ:g |

S MR 2l
- Y Mﬂ‘:@"t\hﬁ




happen when the two

. Therefore, equate the two height equati
4 When (at what time) will their speeds be

heights are equal.
4 ons of the bodies and solve for t.

equal?

Now you equate the two speed equations (s =5’ ) and solve for t.

The following formulae will assist you when dealing with optimisation problems

involving mensuration
Shape Perimeter Ares
a c 1 .
Area = ~acsin 6
Triangle
Square ek Area-s
Rectangle P=21+2b Area=1Xb :
BardlElooram P=2]+72b Area = base X perp. Height
Trapezium P = sum of four sides | Areq = :} X(sum of // sides) x h
Tl C=2mr =D Area = mr?

Object

Volume

Surface area

::.-‘ ] . snlid

TSA = 2lb+ 2lh + 2bh
(for a closed box)

TSA = 65

Surface Area = 4772

Area of curved st

TSA =2mr2 + 2




